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1) LiAl(OtBu)3H

2) Hünig's base,1

3) NaH, DMSO
then 2

4) LAH
5) KH, 3
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6) nBuLi

7) Hünig's base, MOM-Cl
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cis-hydrindane structure

17) PPh3, BzOH,
DEAD
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1') NEt3,4
2') HCl(aq)

3') AcCl, py

4') h

( > 300 nm)

DL-Daucene

5') 4% KOH

dioxane/H2O

8) BH3 * THF
9) NaOH, H2O2
then PCC
10) NaOMe, MeOH

DF

G
one TMS group still intact

6') Al(OiPr)3,
iPrOH

7') pTsCl, py

DL-Daucene

8') 5 eq. iPrLi

18) HClO4

19) NaOH,
EtOH

11) h ( = 254 nm)
12) TBAF * 3 H2O
13) PCC14) 2 eq. Me3SiCH2CO2Me,

cat. TBAF
15) Pd(OAc)2
16) CeCl3,
NaBH4
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9') HCO2H,
hexane
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h (254 nm),

only MeCN
70% yield

h (254 nm),

MeCN/MeOH (3:1)
52% yield
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Please provide plausible mechanisms for the two transformations


